BaSO, | +2H,0 +2C0, 1
Ba( HCO,) ,
H* +S0;” +Ba’" + HCO;, —
BasO, | +H,0+CO, 1

2. NaHSO, Ba( OH),
Ba( OH) ,
2H" +S0; +Ba’* +20H" BaSO, | +2H,0
Ba( OH) ,
H* +S0;” +Ba’* + OH ==BaS0, | +H,0
3. NaOH Ca( HCO,) ,
Ca( HCO,) ,

Ca’* +2HCO, +20H —
CaCO, | +2H,0 +CO;"
Ca( HCO,) ,
Ca’" + HCO, +OH"

CaCO, | +H,0

4. Ca( HCO,), NaOH
NaOH
Ca’* + HCO; +OH" CaCO, | +H,0
NaOH

Ca’* +2HCO; +20H —
CaCO, | +2H,0 +CO;~

5. Ba(OH), NaHSO,
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238100
) @ H,0, Fe’* s
? .
? (1) H,0, Fe'* ?
. (2) 0,
1 Fe* H,0, Fe'* D 2
@2Fe’" +H,0, —=2F¢’* +0, 1 +2H"
@2Fe*" +H,0, +2H'—=2F¢’" +2H,0
@® o( /
Fe'* H, 0, ( ) . 0,( )
1. NaHSO, Ba( HCO,) , NaHSO,
Ba( HCO,) , Ba’* +OH™ +H' +S0; ==BaSO0, | +H,0
2H" +S0;” +Ba’" +2HCO, — NaHSO,

Ba’* +20H +2H" +S0; ——
BaSO, | +2H,0
6. NaH,PO, Ba( OH) ,
Ba( OH) ,
2H,PO, +Ba’" +20H =—
BaHPO, | +2H,0 + HPO;~
Ba( OH) ,
2H,PO, +3Ba’" +40H ——
Ba,( PO,), | +4H,0

\ (
)
1. Fel, Cl, Fel, (I,
1:1
217 +Cl,==I, +2CI"
Fel, Cl 2:3
2Fe’" +417 +3Cl,=—==2Fe'" +21, +6Cl~
2.  FeBr, Cl, FeBr, Cl,
2:1
2Fe’" + Cl,=—=2Fe" +2Cl~
FeBr, Cl, 2:3
2Fe’* +4Br~ +3CL,—=2Fe’" +2Br, +6Cl°
( 12017 - 04 - 15)
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(1) @®© H,0,
H,0, -2 =0, +2H"
e (Fe’* /Fe’™) =0.769 V ¢°( 0,/H,0,) =
0.6945 V; @ H,0,
H,0, +2H" +2e ==2H,0
e°(Fe' " /Fe*™) =0.769 V ¢°( H,0,/
H,0) =1.763 V. H,0,
@ “Fe’* H,0,”
H,0, Fe'",
(2)

4Fe’* +0, +4H ==4Fe’" +2H,0
¢°(0,/H,0) =1.229 V

H,0 O, Fe'";
O Fe' 0, 0,
H,0,. .
2
Cl, + H,0 ==HCI + HCIO
HCIO . Cl, .
:(1) Cl, HCIO ? (2)
?
A ﬁB fco ©°
<g0e X o
(1) @“(HClO/CL) =1.611 V>

©°(ClL/Cl7) =1.358 V

o 1gK
_Ix(1.358 -1.611) _ 143
= 0.0502 =-4.3 K=10"",
K>10° i K<107°

o

HCIO

.25.
(
) ¢ (HClO/C17)
=1.482 V HCIO
cl, cl- HCIO
Cl,. e?(Clo"/Cl) =
0.420 V< o®(CL/Cl7) =1.358 V
~1x(1.358 -0.420) _ 1158
lg K = 5059 =15.8 K=10"%>
10° .
(2)
( ) Ap® >0.2 V ;
Ap® < -0.2V 0 -0.2 V<Ap® <
0.2V
Ap® >0.2V

e  (Fe’ /Fe’") =0.769 V.o° (1,/17) =
0.5345 V Ap® >0.2 V :
2Fe’" +21" —=2Fe’" +1,
; IgK =
2 x (0.769 —0.5345)
0.0592

=7.9 K=10"" > 10’

“« ”»
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